CONTRACTOR: AFFORDABLE ALUMINUM SPECIALIST INC.

DESIGN CRITERIA:

Applicable Codes, Regulations, and Standards

1. The 2007 Florida Building Code with 2009 Supplements,
specifically Chapter 16 Structural Design, Chapter 20
Aluminum, and Chapter 23 Wood.

2. AA ASM 35 and Specifications for Aluminum Structures,
Part 1-A and 1-B of the Aluminum Design Manual prepared
by The Aluminum Association, Inc. Washington, D.C., 2005
Edition

3. ASCE 7-05.

Wind Loads

1. Building Occupancy Category, Paragraph 1604.5 and Table
1604.5: Category 1.

2. Basic Wind Speed, Table 1609 State of Florida Debris
Region & Basic Wind Speed, Paragraph 1609.3.1 and Table
1609.3.1 Equivalent Basic Wind Speed: 110 MPH.
Exposure Category, Paragraph 1609.4.3: B

3. Building Category for Aluminum Structures, Paragraph

2002.6: Building Category 1.

Foundation Design

Actual Maximum Beam Span: 326"
Footing Size: Foundation design not included. No additional
footing or foundation system is required by the proposed

construction if a minimum 4" concrete slab is provided.

Specifications
The following specifications are applicable to this project:

1. Where concrete specifications are required, whether in the
screen enclosure scope or not, by one or more regulatory
agency, the following specifications are applicable:

a. Concrete shall conform to ASTM C94 for the
following components:

i. Portland Cement Type 1,- ASTM C 150

ii. Aggregates - Large Aggregate %" max - ASTM C 33

iii.  Air entraining +/- 1% - ASTM C 260

iv.Water reducing agent - ASTM C 494

v. Clean Potable water

vi.  Other admixtures not permitted

b. Metal accessories shall conform to:

i. Reinforcing Bars - ASTM A6135, grade 60

ii. Welded wire fabric - ASTM A185

c¢. Concrete slump at discharge chute not less than 3" or
more than 5”. Water added afier batching is not
permitted.

d. Prepare and place concrete per American Concrete
Institute Manual of Standard Practice, Parts 1, 2, and
3 including hot weather recommendations.

e. Moist cure or polyethylene curing permitted.

f. Prior to placing concrete, treat the entire subsurface
area for termites in compliance with the FBC.

g. Concrete shall be placed over a polyethylene vapor
barrier.

2. Aluminum extrusions shall be 6005 T5 Alloy

3. Fasteners are required to be SAE Grade 2 or better zinc
plated.

4. All Self Mating Beam Sections are to be stitched with #14
screws 67 from ends and 24” center to center.

5. The minimum nominal thickness of protector panels
(kickplates) shall be an industry standard of 0.024 inches.

6. Screened enclosures containing swimming pools shall
comply with the applicable requirements of FBC R4101.17
Residential Swimming Barrier requirements.

7. Screen Fabric: '%{4 standard of 2%, Betterview. No other
fabric is permitted without prior written approval by
Suncoast Architecture & Engineering, LLC

Roof Type
Roof Type: HIPPED GABLE

2X2

2X4

2X2

SMB

3X3

2X2

2X2

2X4

SMB

2X2
X
2X2

2X4

2X2

SMB

>>
1M
n

2X4

2X2

1X2

SMB

mm-n

2X2

2X2
NE
o W)
79" Sh.m.. 124g” 124%"
_ 53
\&-3/
- S
: =
% o 3"X3"X0.093"
n;m_ POST TYP FOR
S5 (4) SEE
@ m S1/A-3
> (52
81 2x6 2X6
__Nsws_/ _ Su_ sup | &/
2X2 2X2 2X2 2X2 2X2
m o™~
QIS e S Sl S >
Nl | n Nl N N
2X2 2X2 2X2 N2 2X2 %
® 3
\&-2/
2X2 2X2 2X2 2X2 2X2
2X2
2
\&-2/
+—758"— 758" ——758"——758"——758"—
452"
l-.-ﬂ
£
4
1X2 o~
XIS XIS 2 XIS N &
[V [7)] (a1 {Vp] w (o175} N 2
2X2 2X2 2X2 2 &
N // / \\ \..I_

® [

2X4

sl .

IX

2X2

2X4

2X2

SMB

2X2

2X4

SMB

2X4

48"

SMB

1X2

wm-

DOOR(S) SHALL BE
LOCATED IN FIELD
BY CONTRACTOR

4

8-11-11

PROFESSIONAL SEAL

STEVEN B. ERDMAN
FLORIDA LICENSE: AR 0011813

(_

3

4711 34TH STREET NORTH SUITE G
ST. PETERSBURG FL. 33714

TEL: (727) 522-7207

4711 34TH STREET NORTH SUITE G
ST. PETERSBURG FL. 33714

TEL: (727) 622-7207

r;_UNCOAST ARCHITECTURE a
ENGINEERING

FAX: (727) 522-14T1
AN

FLORIDA LICENSES: AA26001769 & CA #28841

.

370 SW MAGNOLIA LANE
FORT WHITE, FL 32038

PLACENCIA

J

"\ / PROJECT ADDRESS: )

(

NOT TO BE REPRODUCED IN WHOLE OR IN PART WITHOUT THE WRITTEN PERMISSION OF SUNCOAST ARCHITECTURE AND ENGINEERING (©COPYRIGHT




ALUMINUM MEMBERS DIMENSIONS [|[RIGID LIGHT CONNECTION #14 SCREWS

HOLLOW SECTIONS
2x2: "x2"x 00447
2x3: 2"x3"x0.050"
2x4: 27 x 4" x 00507
2x5: 2"x5"x0.050"

OPEN BACK SECTIONS
1x2: 17x27x0.0407
Ix3: 1"x2"x 0,045

SNAP SECTIONS
2x 2 Snap: 2" x2" x 0.045"
2% 3 Snap: 2" x 3" x 0.0507

UPRIGHT BEAM NO. SCREWS
2 X4 SMB 2 X4 SMB 5
2 X4 SMB 2X5SMB 8
2 X4 SMB 2 X6 SMB 8
MINIMUM 2 X 5 SMB UPRIGHT FOR BEAMS
LARGER THAN 2 X6 SMB
2 X5 SMB 2 X4 SMB 5
2 X5 SMB 2 X5 SMB 6
2 X5SMB 2 X6 SMB 6
2X5S8SMB 2 X7 SMB 6
2 X5 SMB 2 X8 SMB 9

2 x4 Snap: 27 x 47 x0.045”

SELF MATING (SMB
2x4 SMB: 27" x 47 x 0.044” x 0.100™

MINIMUM 2 X6 SMB UPRIGHT FOR BEAMS
LARGER THAN 2 X 8 SMB

2x5SMB: 27x 5" x 0.050" x 0,100
2x6SMB: 2”x 6" x 0.050” x 0.120”
2x7SMB: 27 x 7" x 0.057” x 0.120”
2x8SMB: 2"x 87 x0.072"x 0.124
2x98MB: 2°x9"x0.072" x0.124”
2x 10 SMB: 2" x 107 x 0.092" x 0.398”

2 X6 SMB
2 X6 SMB
2 X6 SMB
2 X6 SMB
2 X6 SMB
2 X6 SMB
2 X6 SMB

2 X4 SMB 5
2 X5 SMB 6
2 X6 SMB 6
2 X7 SMB 6
2 X8 SMB 9
2 X9 sSMB e
2 X10 SMB 12

USE 2 X6 SMB FASTENER SCHEDULE
FOR UPRIGHTS 2 X7 SMB AND LARGER

W x2" % 2 X UPRIGHT

SIZE - 2" BREAK FORMED
5032 H-32 ANGLE \ . A _

f _ SELF-MATING OF SNAP
SECTION - TYP

MIN 3 J&" SLAB 2500 PSI | |

CONC w/ FIBERMESH

T =T

| 1"x 2" 0.B. BASE PLATE - TYP

1 i~ MIN CONC.
ANCHOR NZ.GMEMZ._.

Av, ..m.,..__.!|+

5d MIN EDGE DISTANCE FROM Ar
EXTERIOR OF COLUMN TO
OUTSIDE EDGE OF SLAB

JAM NUT - IN LIEU OF NYLOCK JAM WIDTH + };"x BEAM DEPTH OR
NUT, JAM NUT w/ THREADLOCKER UPRIGHT DEPTH -}4") ALUM
MAY BE USED BACKING PLATE
WIND ZONES 130 + USE _ ¥ _ TIGHTEN TO CONTACT - DO NOT
(2) %" x 4" LOT _ _ OVERTIGHTEN
WIND ZONES 100 TO 120 USE
(3) 1/4 X 2 1/4" TAPCONS _

: _

SIDE VIEW (1) 12" CAP SCREW w/ NYLOCK 2" % )" % (GIRT OR PURLIN _
_

_

(4)#10 x 1 )5" SMS INTO SCREW
BOSSES

1" x 2" BASE PLATE ANCHORED TO
CONC w/ 1/4" X 1 1/2" QUIKSET 6"
— S MAX EACH SIDE OF POST AND 24"
_\ 0.C. MAX
— I 2'X2" OR 2°X3" MEMBER |
.. 4 ALTERNATIVELY - IN PLACE OF “
<k T ANCHORS, NOVOBOND 900-090
) . <. _ ADHESIVE MAY BE USED - APPLY _
_
ﬁ

4 ’ A 6" 3/8" WIDE BEAD TO QUTSIDE EDGE
& LA - NO BEAD WITHIN 6" OF UPRIGHT.
1 24" CIC LEAVEW 1" GAP FOR
DRAINAGE - MAX VERTICAL GAP =
EEONT VW 1/4", CONCRETE MUST BE CLEAN .
AND UNSEALED OR ACID ETCHED

SNAP OR SELF-MATING BEAM
ONLY

<A\

8-11-11

FROFESSIONAL SEAL

FLORIDA LICENSE: AR 0011813
4711 34TH STREET NORTH SUITE G
ST. PETERSBURG FL. 33714

TEL: (727) 522-7207

~\

(SEE TABLE ABOVE)

SCREW _u__ﬂl_.mmzl\

5/8" TYP @ EDGE

\_“j_ﬂma LIGHT CONNECTION - ALL WIND ZONES - 6" BEAM

4" (MIN) UPRIGHT

A-2

SCALE: NTS

PRIOR TO APPLICATION OF \l/
\m/ ADHESIVE C \PURLIN OR GIRT TO BEAM OR POST DETAIL
2" x 4" OR LARGER SELF-MATING UPRIGHT TO DECK DETAILS )_...M SCALE: NTS
AD SCALE: NTS
FOR SLOPED BEAMS,
MAINTAIN 5/8' SCREW SPACING
SELF-MATING 6" BEAM - NOTCH ERCNEDOE QR BEMY
FOR UPRIGHT 2% 2" PURLINS ATTACHED TO
062" INTERNAL BACKING PLATE BEAM wiMIN (4) #10x 1 5" SMS GEANS BUTT TORETHER
TO COVER ALL SCREWS PURLIN

316" 5052-H32 GUSSET PROJ PURLIN LENGTH X 2" X 1/8" 5032 -
H32 ANGLE EA SIDE
—_— p | d OR
2" x2" GIRT SECTION - ATTACHED TO 3 c L[4 PROJ PURLIN LENGTH X 2° X .063"
BEAM wi (4) 1 J4" SMS » . 5032-H32 RECEIVNG CHANNEL

" . i ° .

1"x 2" OPEN BACK GIRT SECTION F &= . ° 2% 2" EXTRUSION
ATTACHED THRU UPRIGHT TO BEAM wi(2) A . °
#10 % 1)6" SMS & TO GIRT wi#10 X 1 /4" i ° °
SMS 24" CIC 8 L) »
? e o ol

1" x 2" OPEN BACK mxﬂmcw_oz|\._

NOTCH POST AS REQUIRED Il\\

Su
8 : = a 3 / X : 8

1'-4" UPRIGHT
/It._h SMS 1 14" CIC

S

NOTES:

1. GUSSET DIMENSIONS ARE MINIMUM

(2) REQ'D - (1) EA SIDE OF BEAM - MAY BE
INTERNAL OR EXTERNAL

2. AS BEAM SIZE CHANGES, ADD OR
SUBTRACT SCREWS TO MAINTAIN 1 1/4" C/C
SPACING

3. GUSSET LENGTHS REMAIN CONSATANT,
WIDTHS CHANGE TO MATCH BEAM SIZE

L

\ymro_umc PURLIN CONNECTION DETAIL
Din_opr INTERNAL OR EXTERNAL GUSSET DETAIL - RIGID MEDIUM A-2 SCALE: NTS
>IN SCALE: NTS

SUNCOAST ARCHITECTURED STEVEN B. ERDMANN

4711 34TH STREET NORTH SUITE G
FLORIDA LICENSES: AA28001789 & CA #28841

ST. PETERSBURG FL. 33714

TEL: (727) 522-7207

ENGINEERING

FAX: (727) 522-14T1
J &

370 SW MAGNOLIA LANE
FORT WHITE, FL 32038

PLACENCIA

J \.

.

( \ / PROJECT ADDRESS

o
m
>
=
7

NAT TN AE REPRONINICEN IN WHNI E NR 1IN PART WITHN IT THE WRITTEN PERMISRINA NF SHINCNAST ARCHITENTIIRE AND FNRINFERING @CGF’YHIGHT




FLASHING - INSTALL

J \L

\.

J

UNDER EXIST'G DRIP EDGE R SR
0.040" RECIEVER .
CHANNEL L\l ,
_ 55
#14x 314" @ 8" _ Mv
TOP AND BOTTOM 4 //
(2) 1/4" TYPE CONGRETE = : 11
ANCHORS 2" MIN. * 9 4 4. 8-11-11
= EMBED : .
Y d 3'EXTRUDED RECEIVING | 35" (4" NOMINAL) SLAB MIN ——p2 .
- CRANNEL Y6 30 ; . .._m- PROFESSIONAL SEAL
; \I THRU BOLTS i oy 4 = J
Z o
_ = | Rw.\ < 2
COMPOSITE PANEL ol ra #"x 3% EMBED WE SEAL ﬂawcaﬁ__uwrwn_vmw,.%mm._%r._nx 10 = = r
i * ANCHOI
SEE SHEET A-1 (2) #14 x 3" SELF <, - m g 3 "
FOR SPECSIFICATIONS TAPPING SCREWS Y | w m mm
@24"0C. i £ 4 . B g
9. - - £ m Z oS5
z O mn RE
W M 17 w m ﬂ
\myxoo_u PANEL TO FASCIA o 2 m m mm
A-3 SCALE: NTS = S T oy
w u S _a.a. EF
\mj POST BASE DETAIL r
K SCALE: NTS
@ BO)Wrm CONNECTIONS AT FOUNDATION N o l
SCALE: NTS w
o
P
O 3
SEE G/A-3 FOR GUTTER 11] #
BRACE INFORMATION 3/8" x 2" LAG SCREW = s
PROVIDE (2) AT GUTTER “ o -
BRACE AND AT 16" 0.C. O m m
142" EXTRUSION 5'WIDE GUTTER BRACES o Be B
INTERNALLY SCREWED REQUIRED AT UPRIGHT < O m &
TO BEAM W/ (2) #10X2" ATTACHMENT POINTS & 1 = 3
INTO SCREW BOSS AND INTERMEDIATE BRACE = o Zgd g
#14 X 2" AT 24" O.CINTO (5)#10 X 4° WITH BETWEEN ATTACHMENT w i la 2R
REAM NEO WASHER POINTS (9) #14 X 3/4 SMS < w m :
PER PANEL #10 x 3" SPACED 6" FROM S Z M 2
BEAM AND AT 24'0.C. - O < Eug =
% PLATE ON 45° ANGLE = Z O 3t
2" % 2" HOLLOW 2 Z Epp m
= 0
NOTCH BEAM AROUND (S L
STRUCTURAL GUTTER ||/
?\ I /u I3 % ..
w LJ
.k EYE BOLT FOR CABLE TENSION w W vm
L o
242" x Ji* ALUM ANGLE = o 2
EA SIDE wi (4) #14 x 3/4" am
INTO BEAM & (4) #14x2 172" MATING UPRIGHT [m)] = =
THRU BEAM INTO GUTTER ELEMENT I\ ATTACHMENT m m g
wwu_mvmmu.nm I PERIMETER FRAMING ol _ m __..Im
2'x2"x " ALUM ANGLE AN || QO X==
EA SIDE w/ (4) #14 x 34" CONTRACTOR TO VERIFY 2'x_* w = =
EACHLEG / 2°x 2 x i X BEAM HT LESS A _ _ [ = Z5 =
STRUCTURAL GUTTER 2" ALUM ANGLE EA SIDE EARCIA I 1 x T RABEIN OVER 2 04
CONNECT TO BEAM WITH Wi(B) #14 x %" SMS 1 14" x__"SUB FASCIA, LENGTHEN LAG A R M ox
\\ #14 X % AT 16" 0.C. Rl Al ghi SCREWS TO FULLY PENETRATE & ~0
rrol St s e e &R
= Wi
3'X3"X0.093" POST |\ LR AT _M_,m.__.m._.m” " INTO TRUSS TAILS. r
CONNECT TO BEAM Wi (2) 2X6 SMB BEAM WHEN INSTALLING 4" LAG SCREWS,
3/8 @ THRU BOLTS (2) #8 X %" SMS INTO PRE-DRILL wi 3" DRILL TO PREVENT
GUTTER SPLITTING. N
\'O/mx._.mccmu GUTTER BRACE & MATING ELEMENT ATTACHMENT DETAIL @Obwrm CONNECTION AT CORNER
B CARRY BEAM @ SCALE: N.T.S. A-3 SCALE: NTS —
a NOT TO SCALE
DETAILS

7

NOT TO AF REPRONIICEN IN WHNI E NR IN PART WITHOLIT THF WRITTFN PFRMISRINN OF SHINCOAST ARCHITECTHRF AND FNGINFFRING @ COPYRIGHT




